Peta g Clyr
N

0

0
g

s 2
[<5)
S

£ -4
=

_6.

. 0.4
=
O
(@)

>0.2
i
(ol

0

time (Myr)

N

(a) Fluxes
Fin x 23 g 27
+ == = Fprod -
Fremin,02 Q
== == = (*)Fremin,SO4 ©) 1 I
(*)Fremin,Fe - E
LTS £
- - 0
(d) Sulfate
o ASOA4(T) 15
Flux E E
- = =F
| ux (now) 1OG>J‘ g
cgwl
I 500
2 N EE
0102 0
(9) burial rates
org
inorg
= = = CaCO3 c
= = = siderite g
g -1f
\“ ~— Y
— 2 AN ~
. . . . -2t
0 0.5 1 1.5 2 2.5

(b) Carbonate

. o M:
c(m R
= = = HCO3-
CO3(2-)
= == = CO3-(sat)
H2CO3*
x 10 (e) Iron fluxes
Fe3+
= = = Fe3+(now)
Fe2+
(h) Burial fractions
\\ 7
\ /7
\\ /
\ /
\ 7
7
—_—f \\ /
- —--p -
0 0.5 1 1.5 2
time (Myr)

pCO, (ppm)

mmole/ liter

2.5

Petag C

x 10° (c) Carbon mass, 613C

= = =Jorg-¢
| = = =23dinorg

M org
M inorg

permil

(f) Ca(2+) & weathering

(i) atmospheric CO2, pH

2 2.5



